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ED-2011

B. Com. (Part I/11/111) EXAMINATION, 2021

ENVIRONMENTAL STUDIES AND HUMAN RIGHTS
Time : Three Hours
Maximum Marks : 75

A @ yeq fard B U HHie 1 WX 25 3fd g Y
TP W 10 3P 2 |

All questions are compulsory. Question No. 1 carries
25 marks and rest of the questions carry 10 marks
each.

1. fr=faRaa ® @ fol g W dfera fewfrit faRay |
(i) ol yaE
(i) @1

(iii) I-T@e
(iv) wre g

(v) & ogE

(vi) AG STHR AReTUT
(vii) 3ref-aut
(viii)a=g-uro RrerR

P.T.O.
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Write short note on any five of the following :
(i) Energy flow

(ii) Floods

(iii) Land-slides

(iv) Food chain

(v) Noise pollution

(vi) Protection of Human Rights

(vii) Acid Rain
(viii) Poaching of wild animals
SHE—1
(UNIT—1)

el e R e oy |
Write an essay on Water Resources.
S
(Or)
g PN & o1 g9 & ? fORIR | FHeSU |

What are the effects of modern agriculture ? Describe
elaborately.

THIE—2
(UNIT—2)

STetr aiRfRerfae &3 W fawr forfRau |
Write any essay on aquatic ecosystem.

AT

(Or)
Sig-fafderdr W ySRI Sleld gY R ¥ S99 Aga &l
NTAEATRY |
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Describe the importance of Biodiversity highlighting it.
THE—3
(UNIT—3)

31T QMR Yawe W oG forefiy |
Write an essay on solid waste management.

SR

(Or)
‘Fedl AT SEE, TR e § SR S~ 3R

B 217 39 199 BT GEIOT BT |

“Increasing Human population is creating bordle in

sustainable development.” Verify this statement.
ShIg—4
(UNIT—4)
G ARHR & Fef T4 YHR BT favgd ®U F T8 |

Describe elaborately the meaning and kinds of Human
Rights.

34T
(Or)
frferRed TR wfera fewforl forkay -
(i) Wil & Ui wewrd FRIERY 8 Sur
(i) 9161 PR FHT
Write short notes on the following :

(i) Measures for elimination of discrimination against
women

P.T.O.
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(i) Convention on child Rights.
SHIE—5
(UNIT—5)
6. WRA™ AfE™ & Ifdid ¥ W Aifd Jf¥eR R o
ferfag |
Write an essay on fundamental rights under the
constitution of India.
SR
(Or)
A JNTHR [Hd YR 9Rd H o] f6d W ? deu o
NTHEATRY |

How Human Rights enforcement was done in India.
Explain briefly.

ED-2011
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ED-2043

B.Com. (Part-III)
EXAMINATION, 2021
(Compulsory)
(Group-I)

INCOME TAX

(Paper First)
Maximum Marks : 75

Are— WY gra goI p SOV o7 | TP SHIS W U I

1.(1)

100

BT 3ifAar &) T g b 3k ET &

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

FHIS—1

Unit-1
“ITHT T a9 B ST W AT & 17 FAT MY T
quiaaT HeAd & ¢ afe TEl af STuarg Iy | 10

“Income Tax is charged on the income of the
previous year”. Do you fully agree with this

statement ? If not, what are the exceptions ?
[P.T.O.]

ED-2043 [2]

(2) |&T H “HET T FHE@E U Fh H REar &l

THARRT |
Explain in brief ‘Deemed Assessee’ and ‘ Assessee in

Default’.
32041

OR

Y ferior aw 2020-21 & fow Mr. X &1 71 &2 g

M B

() e H B T qarsi & o0 qRd # 9rd a7 |
3 50 80,000/~ (T & TE)

(i) -9 o Raq A TR § S AR | 9T
%0 10,000/-

(iii) T IR wFAr & @rared 50 30,000/-

(iv) 3T St foF iweerar § Suifsid &1 T¢ T 39
9T H TE F0 60,000/-

(v) A H b THT WX HHE TS FAT qEF T bl TS
=TT 50 60,000/-

(vi) TS | P F A, I8 TF0T AT a=dl & frer
W T § T & T F0 50,000/-

(vii)aTfeREaT™ § TenfUd &R & @ T8l Uk §eb | o T
fop, =R vra & faEta & %0 2,00,000/- (%0
2,00,000/- § & 0 1,00,000/- HRT T Q)
3T Mr. X &1 Hohdl 3T &l 9T hiToTT Ife a8 —

(1) framEr (2) staremer farr (3) stiarEr 2



)
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The following are the Taxable Incomes of Mr. X for

the Assessment Year 2020-21 :—

(1) Income from salary received in India for services
rendered in London Rs. 80,000 (computed)

(i1)) Income from House Property in Nepal received
in India Rs. 10,000/-

(ii1) Dividend from an Indian company Rs. 30,000.

(iv) Income accrued in Kolkata but received in Iran
Rs. 60,000.

(v) Interest earned and received in Bangladesh from
bank deposits there Rs. 60,000.

(vi) Income from agriculture in England, it is all
spent on the education of children in London Rs.
50,000.

(vii)Profits of business established in Pakistan
deposited in a bank there, this business is
controlled from India Rs. 2,00,000/- (Out of
Rs. 2,00,000/- a sum of Rs. 1,00,000/- is remitted
to India).

Compute the Gross Total Income of Mr. X if he
is
(a) Resident (b) Not ordinarily resident (c) Non-

Resident.
T foraRoT & ST WR &R feier a 2020-21 & fow
RO W& & Y T T TOMT HITTT— 5
(3 v sma %0 86,000/-
@ W FE %0 6,44,000/-

ED-2043 [4]

Compute the tax liability of Mr. Rahul on the basis of
following particulars for the Assessment Year
2020-21:

(a) Agriculture Income Rs. 86,000/-
(b) Income from Rubber
manufacturing Rs. 6,44,000/-
ShIS—2
Unit-2

At oA WM UH @ H 1 J9ad 2010 §
12000-1000-24000 0 A W fger g3 | 1 faa=r
2019 T AR T & & HROT BAT Bl T3 TAT 0
HaTd FAT HY & TS SR IF ST faiverr & Sirenfies
foare stfafem & v &fagfd & & 9 2,00,000/-
BO 9T I qAT IS g sHfEEE 1972 =i
1,50,000/- I=Et 9T i | I8 Hicrad 30 & a1 afta
HIRIT T BT ATTRR &7 | HaT T B & gAY S
08 W& & AT SISt & T 1,68,000/- 0 T A
T 3T 1 01 fee=r 2019 &f 38 30,000/~ F0 Gfcre
B A AR I Y AT | 37O REraet 7 & gur
% fore S8 S1ae e & 01 %ad, 2020 &1 04 918
T aa A forar e 20,000/~ 1 07 ford |

IE A BT foh A Il HIE i Tl foier i < B

2, &Y fafor ad 2020-21 & fou It a7 sfidew &
T T[T 3T ol TIET BT | 15
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Mr. Abdul Rahim was appointed in a factory on O1st
January 2010 in the pay scale of Rs. 12,000-1000-
24,000. On 1st September 2019 his services were
terminated at the time of retrenchment on account of
closure of business and he received a compensation
of Rs. 2,00,000/- from his employer under the
Industrial Disputes Act and he received also gratuity
Rs. 1,50,000/- under the Payment of Gratuity Act,
1972. He was entitled to avail earned leave of 30 days
each year. At the time of termination of his service,
he was also paid Rs. 1,68,000/- for 08 months earned
leave not availed of by him during the period of
service. On 0lst December 2019 he got another
appointment on a monthly salary of Rs. 30,000/-. On
01st February 2020 in order to meet the expenses for
repair of his home, he received an advance of 04
month’s salary and also took a loan of Rs. 20,000/-
from his employer for the purpose.

Determine his taxable income under the head
‘Salaries’ for the assessment year 2020-21 assuming

that the salary is due on the first of the next month.
34T

OR

A TH AT 6 FRAfT ST @ & | 366 & F9 gee
g— el Fer ge-l, gl § A @F 3R s

ED-2043 [6]

IRaR & @I @ @ & a1 gie-11 &l fhd W w@r 2 |
(fererar 7,000 Fo gfomTe & | I8 I U 7o & fog
Tl TSt @l 578 S I8 38 @Y W & b H )
Trgfy BT TRATfereRT ge 1,25,000 %0 & | 7eh foheran
1,35,000 50 3, Ifaa fear 1,50,000 €0 &1 TR
qTfeteRT Y 12% ol & F (FRUTIeTeRT e UR) T 1T
o A T2 feam ) fasw 9o 2019-20 # fow s
Tt H 7 5,000 B0 , <97 9¥ 6,000 F0 IMHA E 1A
§01.07.2016 &I LIC & 12% Yfaad &l 22 & 8,00,000
0 g fetor & for Seam fod & | =) @ i s
30 ST 2018 T T & AT &7 T FT T4 37&T ¢ |

e A &t 3 &1 (iR 2020-21 & forg stfiepa
TET AR i fF A & o= @l d 3
2,00,000 %0 ¥ |

A owns a residential house property. It has two
identical units— Unit-I and Unit-II. While Unit-I is
self occupied by A and his family members, Unit-II is
let out (rent being Rs. 7,000/- per month, this unit
remained vacant for one month during which it was
self occupied). Municipal value of the property is Rs.
1,25,000. Standard rent is Rs. 1,35,000 and fair rent is
Rs. 1,50,000. Municipal Tax is imposed @ 12% (on
Municipal value) which is paid by A. Other expenses
for the previous year 2019-20 being repair Rs.
5,000/-, insurance Rs. 6,000.
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A borrowed Rs. 8,00,000 on 01.07.2016 from LIC @
12% p.a. to construct the property. Construction of
the house was completed on June 30, 2018. The
entire loan is still unpaid.
Compute the income of Mr. A for the assessment year
2020-21. On the assumption that income of A from
other sources is Rs. 2,00,000/-.
TPIE—3

Unit-3
S0 wew UH ffeed g1 U w|d w UiRed &
SAfafar a8 U ot sreadTa # Srge fafhas ot &
T | I AigE Rt W fiear €1 a8 XYZ Co.
Ltd. ¥ wref fafeheaes ot & 9@t & & 91fée Retainer
fee Ol 21

T AT T U T b ReprE @ & qor 31
A 2020 I FHAS B A a9 & T e gEer
IaeeT E—

giftaai—

WEe gk ITed 2,60,000/-
STl STeddra & dehal et 1,34,000/-
XYZ Co. Ltd. ¥ Retainer fee 60,000/-

§% | T ST W A (TEEda §9) 13,000/-

ED-2043 [8]

A —
FAlweh ol foparar qar faerelr =@ 12,000/-
AR T 2,400/-
HEOT UG WYL 500/-
FR & WE@E & @ 12,000/-
FAIh HEH Hhl AL 3,600/-
FEA BT dad 3,600/-
BICEICIEIRIEPL 2,400/-

FANMD Bl BR qAT Herax &r 01.04.2019 H &R
T 25,000/~ FET 2,000/~ 0 SHAST: &T, HR T SADB
BT 20% JANT AT aer Hoil rEf & oy o1 R W)
BT BT AN 15% T9T Beral T 10% Bl & F BT
zl

Y e ad 2020-21 & forg 2ferex &t Fehel HA S
I AT HITTT | 15

Dr. Mahesh is a medical practitioner. Besides his
own practice, he works as a part-time physician in a
private hospital for which he receives a monthly

remuneration.

He is also a consultant physician of XYZ Ltd. Co. on

a monthly retainer fees.
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The doctor maintains a record of his receipts and
payments and for the year ended 31st March, 2020
the following information is abstracted there from.

Receipts :

Consultation fees 2,60,000
Gross remuneration from private hospital ~ 1,34,000
Retainer fees from XYZ Ltd. Co. 60,000
Interest on Bank fixed deposit 13,000
(Nationalised bank)

Payments :

Rent & Electricity charges for clinic 12,000
Telephone charges 2,400
Printing and Stationery 500
Car Maintenance expenses 12,000
Wages of clinical assistant 3,600
Driver’s salary 3,600
Life Insurance Premium 2,400

The written down value of car and furniture at the
clinic ason 01.04.2019 are noted to be Rs. 25,000 and
Rs. 2,000 respectively, 20% of the use of the car and
telephone is attributable to personal and private
purposes. Provide for depreciation on car @ 15% and
furniture @ 10%.

ED-2043 [10]

Compute the gross total income of the doctor for the
assessment year 2020-21.
320dT1

OR
ey oo 9 oot e g=faal a9 01.04.2019 &
31.03.2020 & SR It A 1 yepw & E-

HTYYOT, ARTT 80,000 %0 (ST ST 2017 H 9 fehw) 78
2019 # 1,00,000 &0 # < T |

IR H @ & Iga9d 4§ [hd W ISMAT BAT b
31.10.2019 T 14,00,000 %0 H =11 01.04.2001 T
3T AR 9w 3,00,000 0 1 2009-10 § IqH X
W AR 29,600 0 TEIAT 2T 25,000 0 T |

T HrtER 2009 ¥ frEar @rd 14,000 €0 & A
2020 ¥ 26,000 0 ¥ =T |

I 01.12.2019 &I 45,000 0 H <=1 orert sTaeiiad
= 01.04.2019 T 38,000 %0 T |

01.01.2020 % @& =0 HW YfF 8,00,000 F0 H TH
sfafem & I=ia st &0 & IferyfEa &2 o T8
STEeh! 2003-04 H @RI 65,400 %0 &7 |

I BT ARG oIl A9 Bl IO HINT | AR ThiTT
gl 2001-02 # 100, 2003-04 F 109, 2009-10 H
148 3T 2019-20 & 289 ¥ |




(a)

(b)

(c)

(d)

(e)

(1)
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Mr. Vijay sold some of his property during the year
01.04.2019 to 31.03.2020 as under :
Jewellery costing Rs. 80,000 (which was accrued in
June 2017) was sold for Rs. 1,00,000 in May 2019.
House at Kolkata, let out for residential purposes. Its
sale price on 31.10.2019 is Rs. 14,00,000. Fair
market value on 01.04.2001 Rs. 3,00,000. Cost of
improvement made during 2009-10 Rs. 29,600.
Expenses on transfer are Rs. 25,000.
Household furniture costing Rs. 14,000 in 2009 was
sold in March, 2020 for Rs. 26,000.
Car was sold on 01.12.2019 for Rs. 45,000, its
written down value on 01.04.2019 was Rs. 38,000.
Self cultivated land was compulsorily acquired under
law for Rs. 8,00,000 on 01.01.2020 and its cost in
2003-04 was Rs. 65,400.
Compute the taxable capital gains. Cost inflation
indices as 2001-02-100, 2003-04-109, 2009-10-148
and 2019-20-289.

SHIE—4

Unit-4

AR & el e g & e a¥ 2020-21 &
fo ST St T f TR e e B

TRl TR I3T U Heh & 3T (0T i T18) 9500

ED-2043 [12]

(2) AT AR G AqTH 19600
(3) UH BH H AT Bl 3T 1800
4) a@ﬁaﬁq 1900
(5) AR oIl T4 3200
(6) ETERI Yot dr4 1400

(1
)
3)
4
)
(6)

(1)
2)

frefefad 7e qd & e a9 2019-20 § S0 @
™ -

AT & AT B B 4600
AT B9 1000
IR YT BT 2015-16 a5 & 4100
SrHepTe e ST 1 2016-17 a6 & 3950
HeRIH R & BT 3000
EERIE] 3200

1 a9 T & 500 F0 & | SHATh! STh! qehel B AT
T IO HIAT & TAT Bl bl SR of o & qaer o
fRaT HAT B 15

Mr. Yadav a resident of India submit the following
particulars of his income for the assessment year
2020-21 :

Income from house let out (computed) 9500
Profit from Radio business 19600



3)
(4)
)
(6)

(1
)
3)
4
)
(6)

(D
)
3)
4

[13] ED-2043
Income of interest from a firm 1800
Speculation income 1900
Short term capital gains 3200
Long term capital gains 1400

The following items have been brought forward from
the preceding assessment year 2019-20 :

Loss from Radio business 4600
Unabsorbed depreciation 1000
Short term capital loss (year 2015-16) 4100
Long term capital loss (year 2016-17) 3950
Loss from house property 3000
Speculation loss 3200

Current year depreciation is Rs. 500.

You are required to compute his gross total income
and deal with the carry forward of losses.

34T

OR
frfafaa faaeen & & faRer ad 2020-21 & fag
ey re/ B 3T ST I UMD BT —
AT (T B TE) 5,00,000
HebTT R T fohrar 28,000
EEEARIE R IR 1,42,000
o T9d @ F A 9,500

ED-2043 [14]

)
(6)
(7
(®)
)
(10)

(1)
2)
€)
(4)
)
(6)
(7
(8)
)

(10)

()

& P 3T 20,000
e | S 15,000
EIEEEIIERE IR UGIE] 14,000
JHIOIT Yifdd=e ®vg § e 52,000
TarfeReaT ST Y 1 I ERT A 11,000
T AT TS B9 § =9 ZRT 10,000

From the following particulars calculate tax payable
by Mr. Akshaya for the assessment year 2020-21 :

Salary (computed) 5,00,000
Rent from House Property 28,000
Long term capital gains 1,42,000
Interest from bank saving account 9,500
Net agricultural income 20,000
Winning from Lottery 15,000
Payment of life insurance premium 14,000
Contribution to recognised provident fund 52,000

Premium paid by cheque on mediclaim

insurance policy 11,000
Donation to Prime Minister’s National

Relief Fund by cheque 10,000

SHIS—5
Unit-5

fr=ifoiad STl oY I T T Y & Heldl & qae
H A & 1 T & — 15
e BT AW



(@)

[15] ED-2043
giayfedl W =
[ERPEE R UGIE]

What are the provisions of law regarding deduction

of tax at source from the following incomes :
Winning from lottery
Interest on securities

Payment of rent.

3A4qT
OR
T G & fI9T BT 9RT 244A & = oF ST
T T BT — 10
(i) X Mg ad 2019-20 & [ s & 3,00,000
fIaRor & 3meR W 3wt S <7 fafy
SFIiq 30.9.2019 Hl arfge #2 & ar|
(ii) Y I A T TR Iebrs &i—
() 31.3.2019 T F0H *HT 2,80,000
(@) & 140A & S=id @g T 20,000
ferfor @ %X 30.9.2019 Hr
(iii) 31.3.2020 &l €T 143(3) B ST 4,00,000
i & Meaior ) T w1

(iv) WRT W AT 74T T 1.6.2020 r 1,00,000

ED-2043 [16]

(v) 30.11.2020 T 19T H TOMT T 3,20,000
AT
(vi) 30.11.2020 T aT9HT &I AT BT |

From the following information compute interest
payable by the department, if any U/S 244A.
(1) Tax due as per return of income 3,00,000
for the assessment year 2020-21
which was filed on the due date
i.e. 30.09.2019.

(i1)) The amount of tax was paid as under :

(a) Advance tax upto 31.3.2019 2,80,000
(b) Tax on self assessment U/S 140A 20,000
on 30.9.2019

(i11) Tax determined on regular assessment 4,00,000
U/S 143(3) on 31.3.2020

(iv) Tax paid (on demand) on 1.5.2020 1,00,000

(v) Tax determined on appeal on 3,20,000
30.11.2020

(vi) Actual refund granted on 30.11.2020.

(@) o7 U8 W & QM RAgid aarey | 5

Explain the general principles of imposing penalty.
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ED-2044

B. Com. (Part 111) EXAMINATION, 2021
(Compulsory)
(Group—1I)
Paper Second
AUDITING
Time : Three Hours
Maximum Marks : 70

Minimum Pass Marks : 25

de ;. 9 U el & SR QI | UG 3dls | Udh U
BT A 2 | 9 gt & 3f qE g |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

TPHIE—1

(UNIT—1)

1. 3(PETT FIT & ? DU b T ILIF © ° FHNST |

What is Auditing ? What are the objects of Auditing ?
Explain them.

P.T.O.
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3rerr
(Or)
Db B URS™ PR D Y4 R-HIT HH SSY O
a8y ?

What necessary steps should be taken before commencing
the work of audit ?

FPE—2
(UNIT—2)
“UAIV e B1 Ig B TSI & |7 HUF B ARAT B

gV YAV & Heed WX Yl SlfefY | JHI0H 3R Feam 3
T AR & 7 FHaR fafau |

“Vouching is the backbone of Auditing.” Discuss the
importance of vouching in the light of this statement.
Write down in detail the difference between vouching and
verification.

e

(Or)
U et HoAldbIdhdl el @, By W GEREl e
TR & Yedie & IFHT T 2|7 Iugad HUA B

q® Wied THIACY TAT AEID JheH & oy F1 A
S BIT |

“An auditor is not valuer and yet he is intimately

concerned with proper valuation of assets and liabilities.”
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Discuss the above statement citing some importance legal
decisions in this respect.

THE—3
(UNIT—3)

THT JbEd F FT AT B 7 Uh Bl DD b
ATPR, H UG SIRIEl bl ARATH 17T |
What do you mean by Company Auditor ? Explain the
rights, duties and liabilities of company auditors.

31T

(Or)
foqo A/ @™ @1 g 2 AW fadRer & e A
HHT ISR H BIF-®I | graeT™ g Mg g ?
What is Divisible Profit ? What are various provisions

made in the Companies Act regarding distribution of
divident ? Discuss the duties of an auditor in this regard ?

SHE—4

(UNIT—4)

HUC P YRl B W MY FHA & AHAl Bl ST
PN D foIU ST Ufsham STUATTT IHPB! WURGT SIoTY |

Outline the procedure you would adopt if you were
required to investigate the affairs of a company for a
suspected fraud.

3rerar

(Or)
AHREAT & A9 & 97 3L § ¢ 39 Hodidd @
AR H 3fdeTd dHel ddb Savardl § ?

P.T.O.
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What is the object of Verification of Assets ? How far is
the auditor responsible as regard their valuation ?

THE—5
(UNIT—5)
5. WMINIG JHerl T § ? $9& Sl Ud oMl TR USRI
SIEN
What is Social Audit ? Throw light on is objects and
importance.
AT
(Or)
UEY JfdeTdh W AT R FASK § ¢ SHD! BRIUVITEl B
NTHEATRY |
What do you understand by Management Audit ? Discuss
its working methods ?

ED-2044
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ED-2045

B. Com. (Part 111) EXAMINATION, 2021

(Group—1I1 : Compulsory)
Paper First
INDIRECT TAXES WITH GST
Time : Three Hours
Maximum Marks : 75

de . 9l U geEl & SR INY | U SdIs | Uh U9
&A1 Afard § | ) g b i T |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THE—1
(UNIT—1)
1. AMl Yob & He@ Bl QAo BT Td SHS Ul
EEICECRIEDE

Discuss the importance of customs duty and bad effects of
such duty.

3rrar
(Or)
TH IRAY 3MATH 4 5,000 SfeR &I AT HE, 2020 H
IrATd T | 39 T § fEfiRad SHeRT U ©
(i) 9GA & UMb & g 120 SfeR |

P.T.O.
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(i) IR IO AT FeR H 9ol T8, ST S 400
STelR o7 |

(iii) < M 50 Sfer |

(iv) Wl ATST 160 SioR |

(v) MAdH 7 TaTd B 100 SfeR HARH faar, =
Ig AIeT HRaM 2 |

(vi) T® SfeR @ fafma <= 242.38 B |

(vii) ¥ Yob 10% TG 10% FHINTH Hedmvl IR
ST B |

(Vi)W RT # 39 UBR & " W 12% i, T, <1 ol
=
AT 9% P PR MERT oI UG <g AT Yob
@ IR ST PR |

An Indian importer import raw materials for 5,000 dollars
in March 2020, following informations are available :

(i) Packing charges of goods 120 dollars.

(ii) Goods were stuffed in container (returnable) price of
container is 400 dollars.

(iii) Insurance premium 50 dollars.
(iv) Sea freight 160 dollars.

(v) Importer had paid commission of 100 dollars to a
broker who arranged the transaction.

(vi) Dollar rate is ¥ 42.38 = 1 dollar.

(vii) Basic customs duty is 10% and social welfare
surcharge @ 10%.

(viii) 12% GST is payable for such goods in India.

Find out the assessable value of imported goods and
customs duty payable.
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FPE—2
(UNIT—2)
2. BUNTG AEHRI AH & wlera sfoem™ v el &t
quie P |

Discuss the brief history and objectives of C. G. Excise
Act.

3rerar
(Or)
U USR8 9 ffaRad Aree yared Frifia fed 73
(i) s Al W8T d<H B 1,370 T ofie |
(i) WM GRem 9 B SgHd b B A 8,035 Yh
RICA
(iii) I9EI R & AHAFUR AURT Bl 20,700 Y
GICA
(iv) facell IR & SHER @I dR”R 1,800 b oflex |
(v) R (700 3 UT) 10,000 I IR |
(vi) ICHIETT & ARHFUN AN B I 12,000 Y
e |
Pob B TN BIGY | AT ATGd Uerdl @1 i
a¥ 2019-20 H a1 & |

The following intoxicants were issued from a warehouse :

(i) Brandy to military canteen 1,370 proof liters.

P.T.O.
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(i) Rum to authorised canteen of B. S. F. 8,035 proof

liters.
(iii) Brandy to licence holder dealer of Raipur, 20700
proof liters.

(iv) Beer to contractors, 1,800 proof liters..
(v) Rassi (70.0 U. P.) 10,000 proof liters.

(vi) Rum to licence holder dealer of Rajnadgaon 12,000
proof liters.
Calculate the amount of excise duty under

Chhattisgarh Excise Act if intoxicants were issued in
the year 2019-20.

TPR—3
(UNIT—3)
S UE. L W SA ®foAal &1 fddew @iy ud
AT 8 gSATd QISTY |

Point the difficulties arise due to GST and make
suggestions to resolve them.

fordr
(Or)
. T, <. gR¥e & ST Ud Bt &) fadeer Sifeu |

Describe the constitution of GST Council and discuss its

functions.
ShIs—4
(UNIT—4)
ATl d HarhR A H o gfcediell & fofy Ui
PR A 2 7 Ui @ fafS awsnsy vd 9drsy
Ui %9 % fhar o A © 7
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When the registration is compulsory for suppliers under
GST Act ? When the procedure of registration
circumstances of cancellation the registration ?

SR

(Or)
RA™ NeTd gRT I U9 A1 URagd 9§ UTd TSl Ud
fRT RN & IR Jad 9 FRAFG AR A1 DI | XeTd
IS T 5% off. T4, <. < ©
() R Aol | ARy b fewEn 5 PRI
(i) IFIE el 3 ARy @ foern 33T
(i) M AU WR Bhervre AR B fhwma 32
(iv) 2 U4 3 SRR WR $HoRrs I & fojim - T4 RIS

(V) 1 U4 URiel a1 31 e
(vi) UgiferM uaref 78 T
(vii) T¢ FIfad &t & TR ATl 31N
(viii) TR TH-U@T 36 g
(ix) T 325 BRI
(x) TgPR 35 I
(xi) 5 T4 B 335 RIS
(xii) el UG 350 o
(xiii) YRS IdRD 31.8 TS

Compute taxable and tax free for transport of passengers
and goods by rail. GST rate applicable @ 5% on taxable
railway fare and freight :

(i) General class fare T 5 crore
(i) Sleeper class fare T 3 crore
(iii) 1st class air conditioned coach T 2 crore

P.T.O.
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(iv) 2 and 3 tier air conditioned coach % 4 crore
(v) Post mails and postal bags freight % 1 crore
(vi) Petroleum products % 8 crore
(vii) Relief materials of the flood affected areas X 1 crore
(viii) Newspapers and magazines ¥ 60 lakh
(ix) Milk % 2.5 crore
(X) Sugar % 5 crore
(xi) Wheat and Cotton % 3.5 crore
(xii) Defence and military equipments % 50 lakh
(xiii) Transport of chemical fertilizers % 1.8 crore
THE—5
(UNIT—5)

faavol & @ ey ® ? oft. v, & 9 wwfd faaRfrl
P JPR THMRU |

What is meant by Return ? Discuss various types of return
under GST ?

arerar
(Or)

ST g & (Foliad) @ foiRad gaemg ueTe

P

A1E femR 4§ U $9Ycy U4 Yol | germ T

el = )
(i) | PR BT ST & forg 17,600
(i) | w1l & uRaed & forv ¢& 88,000
(iii) | @R ¥ YA & foy AeX IR 25,400

(iv | Rl wd  giiece  (FRioRes
gfiwatel W) Rad ol & erld
ST SRFUIE o @R Ol aRTAT 4,800




(V)

(vi)

[7]

ISinTd ATel fo¥a $7Yc ¢¢ dfed )

T W g 3l BT AP & A<

off g

WRR U HHITEE WhH & I

SR ¥ Ui {6y e 31e T 9 @R
! e fopa

ED-2045

77,000

e feuRR W I9e R g <F Sl TE @ I

2,20,000 B | Wgd 9YC <a¥ fse @ R gz

Uq QAP ST DI |
Janta transport company furnished the following
information :
Inputs and capital goods received | Tax Paid
in December ®
(i) | Computers used for office 17,600
(ii) | Truck used for transportation of 88,000
goods
(iii) | Motorcar used for business purpose 25,400
(iv) | Stores and lubricants obtained from
the unregistered supplier on which
tax has been paid by Janta transport
on reverse charge basis. 4,800
(v) | Capital goods purchased on which
depreciation has been taken on full
value including input tax there on 77,000
(vi) | Spare parts purchased from supplier
who opted composition scheme and
the composite tax has been charged. —

P.T.O.
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Total GST payable for December is ¥ 2,20,000. Calculate
allowable input tax credit and tax payable.

ED-2045
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B. Com. (Part 111) EXAMINATION, 2021
(Optional Group A—Finance Area)
(Group—IIl)

Paper First
FINANCIAL MANAGEMENT
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25

e ;. W Ofg e & SR QY| UG 3d@ls W TS g
AT Afard § | ) g b 3 T |

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

ShIe—1
(UNIT—1)
1. fofRm ydg 1 gRRarer Y dor g6 SRl @ qagy |
Define financial management and discuss its functions.
AT
(Or)

fakra oo @& 2 7 s9o fafrs oo @ g fSHer
faftry o= o e <A @nfeu ?

P.T.O.
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What is financial planning ? What are various factors that

a financial plan consider ?
THIE—2
(UNIT—2)
USll gofc &1 gRMTYT ST 39 &5 U9 J8@ @ f9de
I |

Define capital budgeting and discuss its scope and

importance.

3rerar

(Or)
U URASHT 1 AT T 1,00,000 & AR SHHT JAYY
e T 20,000 T | BT G IR A U4 SAD! I YU IY A

AP] U ¥ ddb HHEIE T 20,000, T 24,000, T 28,000,
T 32,000 TAT T 40,000 B PR B T 50% AM o iR
Aefl Y1 Ugfa 9 g FIeAT § | RIS d oied &)
@I ITUMAT BT |

A project cost ¥ 1,00,000 and has scrap value of ¥ 20,000
its stream of income before depreciation and taxes during
the first year through five year is ¥ 20,000, ¥ 24,000,
¥ 28,000, ¥ 32,000 and ¥ 40,000 Assume a 50% tax rate
and depreciation on straight line basis calculate

accounting rate for the project.
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TPHIE—3

(UNIT—3)

Uoll @1 @RI @1 GR|TST SIfSTY | | 3 &1 ofrTd &
gl § 7 9 fRifa awar ofe @ ara ow fuiRa o
S ® ?

Define cost of capital. What is the cost of retained ? How
is the cost of new equity issues determined ?

3rerar

(Or)
g o, 1 U Y SIS & foIg SFAM omman f gqa
T9-fazeg 975 2,000 3HEAT &, IS THEAT BT T 14 Ul
Shls R 99T offdl 2| ofFd ordl fawrm 3 adaq #
gRadTelel @ @1 A % 9 U SdIs R |
fasr @1 2,500 SHIEAT 3R 3,000 SHISAT B AAT & folw
IR offaRsT @1 TUMT HINTT | 2,500 SHIZAT AR 3,000
SHISAT B fabl P 7ET WR IR oflavel F iR SH
IR ¥ 3y T frspe prera ® ?

X Ltd. has estimated that for a new product its break-even
point is 2,000 units. If the item is sold for ¥ 14 per unit the
cost accounting department has currently identified
variable cost of ¥ 9 per unit. Calculate operating leverage
at sales volume of 2,500 units and 3000 units. What do
you infer from the operating leverage at the sales volume
of 2,500 units and 3,000 units and their difference if any ?

FHTE—4
(UNIT—4)

. Yol 3 @ A= Rigra @ & ? ey ered) B |
It e @ fuRe d@r @ A e $ifg |

P.T.O.
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What are the different theories of capital structure ?
Explain in brief. Also explain their determinates.

3T

(Or)
Teed fag for. &1 |9 e Yol & WTd 12% SR BH &
ATe] IR Hed T 10,00,000 (X 10 WY 3f9T @ % ) 2|
e 9§ & ofd H T fAfanT (1) ei| (E) T oy
(D) &1 4o P T 3,40,000, I 2,75,000 TAT T 2.50 Ufdl
379 A gU SUISY 6 AL U, WG @ IR ol
BT YA BH & ed BT JAIfIT T8l Bl & |
Golden View Ltd. has a cast of equity capital of 12% the
current market value of the firm (v) is ¥ 10,00,000 (@ ¥
10 per share). Assume values for new investment (I)
earning (E) and dividends (D) at the end of 1st year as ¥
3,40,000, ¥ 2,75,000 and ¥ 2.50 per share respectively

show under M. M. assumptions the payment of D does
not affect the value of the firm.

FPIE—5
(UNIT—5)
FRIEMTE Goll 1 S@ERYT &1 WE Iy 3R 396 Jae
DI AR BT IO BT |

Explain the concept of Working capital and discuss the
need for managing it.

3era
(Or)

gM ffice dad U@ & T ‘A’ 91 H e & 9w

Y’ ygad B 2| AT B TS IS b A H Y

Bl 12 TPIgAl AP © | Ig AMd 8Y fb el Hferad

15000 SHIgAT g & fb ‘A’ & foly AT [ a9 Yua:
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ReR 8 & Y’ & foIu ey 39 W U¥$ IR T 200
AN Usal § doT {6 ufday @ warg ond T 8 ufd
ShTS 2| Y = & SR AR

@) Y’ @ fou anfdie smeer AT MuiRa @Ifvr |
@) S A W TR D Gl ANIT T 8 2
) ufqay fod IR W & forv ameer fear Sy |

Home Ltd. manufacture only one product ‘A’ The single
raw material used in making ‘A’ is “Y’. For each unit of
‘A’ manufactured 12 units of ‘Y’ are required. Assuming
that the company manufactures 15000 units per annum
that the demand for ‘A’ is perfectly steady throughout the
year that it cost ¥ 200 each time order is placed for ‘Y’
and that earrying cost is ¥ 8 per unit of ‘Y’ per year. You
are required to answer the following :

(@) Determine the economic order quantity of ‘Y.
(b) What is total cost of inventory for the quantity ?

(¢) How many time per year would inventory be
ordered ?

ED-2047
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B. Com. (Part 111) EXAMINATION, 2021

(Optional Group A—Finance Area)
Group—IIlI

Paper Second
FINANCIAL MARKET OPERATIONS
Time : Three Hours
Maximum Marks : 75

Minimum Pass Marks : 25
die ;. W Ui W & SR QoY | URd 3dls | Ud U
AT Afard g | ) g b i T |

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
SHE—1
(UNIT—1)

1. ¥aT R &I gREId SIfT | g8T R & Ie3d el
HEG Pl WL DI |

Define money market. Explain its object and importance.

P.T.O.
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3AdT
(Or)
9ecl T8 Ud Wigd T8 ¥ R IR | wRd & 3 7
AHUT AT TE 7 ?

Distinguish between ‘discount house’ and acceptance
house. Why are these houses not popular in India ?

FPIE—2

(UNIT—2)
wie Taads @ gR9INT HIT | MRA eld Tades
SRT Yol a1 &l gui- HIfTY |

Define stock exchange. Describe the services rendered by
an Indian Stock Exchange.

3T
(Or)
TRIfe IR U9 fgdids doiR R U6 Meurdre o
forfRed |
Write an essay on primary market and secondary market.
THE—3
(UNIT—3)

Ufrfcr orgdyd Ud fame wre @1 R | |essy e
S T ARG BT JRET & UTaETEl Bl gaigd |

Explain securities contract and regulation Act, and

Describe provisions for protecting the investors.
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rerar

(Or)
WG TP G, THIHN UG Sfdaemel Fams aver g,
o Faera! &1 f9ward 21 39 BUF B W DIy |

The SEBI is a single, highly visible and independent
organisation in which investors have trust ? Explain.

FHT—4

(UNIT—4)
yfer{fcr SolTel fhd e & ? gal 1 I © g
fshaatl & R o &1 @dagR IR N 3R |iedr $i
forRe |

What do you mean by stock broker ? What are their
qualifications ? Also describe code of conduct application
on their functions.

arerar
(Or)
frferRed & orf garsdy -
(i) emTd fafraren
(i) SR fafar
(iii) fac=l gare

Describe the functions of the following :

(i) Institutional investors
(i) Market makers

(iii) Foreign Broker

P.T.O.
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ShIE—5
(UNIT—5)
5. foxfig Qarell | @1 ey & ? A< Aawll & aHfiexor
T4 &5 HT Ieoid DI |
What is meant by financial services ? Discuss the
classification and scope of financial services.
34T
(Or)
ofec ST A T M § ? ST @ yfdd R ara
HA-BIF H IRE © ?
What do you mean by credit rating ? What are the factors
which affect the credit rating ?

ED-2048



